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Note : Attempt any four questions. Questions no. 1 

is compulsory. 

1. Attempt any two from the following : 7 + 7 

 (a) State the advantages of Self-balancing 
system. 

 (b) Write a note on ‘cost concept’ of Accounting. 

 (c) Explain the features of consignment. 

 (d) Distinguish between ‘Provision’ and 
‘Reserve’. 

2. What are the essential features of Receipts and 

Payments Account ? How does it differ from 
Cash Book ? Explain. 6 + 6 
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3. What are various types of errors which are 

usually committed in the process of  

accounting ? Explain with examples. 6 + 6 

4. Give journal entries for the following 

adjustments : 2+2+3+2+3 

 (a) Interest received in advance Rs. 600 

 (b) Interest on drawing Rs. 1,200 

 (e) Provision for discount on creditors Rs. 200 

 (d) Loss of goods by theft Rs. 8,500 

 (e) Drawing of goods by proprietor Rs. 750 

5. Differentiate between : 6 + 6 

 (i) ‘Joint venture’ and ‘Consignment’ 

 (ii) ‘Joint venture’ and ‘Partnership’ 

6. How would you deal with the following items 

while preparing the final accounts of a non-

trading concern ? 2 × 6 

 (a) Legacy 
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 (b) Donation when purpose is not mentioned 

 (c) Life membership fees 

 (d) Receipts for Tournament Fund 

 (e) Sales of used sports material 

 (f) Entrance fees 
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Lukrd mikf/ dk;ZØe (ch-Mh-ih-) 

l=kkar ijh{kk 

fnlEcj] 2020 

(,sfPNd ikB~;Øe % okf.kT;) 

bZ- lh- vks-&02 ys[kkfof/µI 

le; % 2 ?k.Vs     vf/dre vad % 50 

uk sV % fdUgha p kj iz'uksa ds mÙkj fyf[k,A iz'u la[;k 1 

vfuok;Z gSA 

 

1- fuEufyf[kr esa ls fdUgha n k s iz'uksa ds mÙkj  

fyf[k, %    7$7 

 (d)  Lo%lUrqyu iz.kkyh ds ykHk fyf[k,A 

 ([k)  ys[kkdj.k dh ykxr ladYiuk ij ,d uksV 

fyf[k,A 

 (x)  izs"k.k dh fo'ks"krkvksa dh foospuk dhft,A 

 (?k)  ^izko/ku* ,oa ^lap;* esa Hksn dhft,A 
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2- izkfIr ,oa Hkqxrku [kkrs dh izeq[k fo'ks"krk,¡ D;k gSa \ 

;g jksdM+ cgh ls fdl izdkj fHkUu gS \ mYys[k 

dhft,A   6$6 

3- ys[kkdj.k dh izfØ;k esa dh tkus okyh fofHkUu izdkj 

dh v'kqf¼;k¡ D;k gSa \ mnkgj.k nsdj mudh O;k[;k 

dhft,A   6$6 

4- fuEufyf[kr lek;kstuksa ds fy, tuZy izfof"V;k¡  

nhft, %    7$7 

 (d)  vfxze izkIr C;kt 600 #- 

 ([k)  vkgj.k ij C;kt 1]200 #- 

 (x)  ysunkjksa ij NwV ds fy, izko/ku 200 #- 

 (?k)  pksjh ds dkj.k eky dh gkfu 8]500 #- 

 (³)  Lokeh }kjk eky dk vkgj.k 750 #- 

2+2+3+2+3 

5- Hksn dhft, % 

 (d) ̂ la;qDr lkgl* rFkk ^izs"k.k* 

 ([k) ̂ la;qDr lkgl* rFkk ^lk>snkjh* 6$6 
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6- fdlh xSj O;kikfjd laxBu ds vfUre [kkrs cukrs le; 

vki fuEufyf[kr dk ys[kk dSls djsaxs \ 2×6 

 (d)  fjDFk 

 ([k)  nku ftlds mís'; ds ckjs esa dqN u fn;k gks 

 (x)  vkthou lnL;rk 'kqYd 

 (?k)  [ksydwn izfr;ksfxrk fuf/ ds fy, izkfIr;k¡ 

 (³)  iqjkuh iz;ksx dh gqbZ [ksy lkexzh 

 (p)  izos'k 'kqYd 
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